® a®

a
® da*(a-4)
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a*(a-4)

a® — 4a?




2. —8a%b+ 12a%b 9] ¢l157} ofd ALY

O -4b @ —4ab ® a?b

@ab2 ® 2a-3

—8a%b + 12a%h = —4a*b(2a — 3)
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Q@ x*-16 © x*-2x
© x*-4x+4 ® x*-16
® 6, 0,6 @o.e.@ ® © e
@ &,0 ® 0 e

QD (x—4)(x+4)

O x(x-2)

® (x-2)°

@ (x*4+4)(x-2)(x+2)




4. THe 7} A9 TEQ QA5E () gto] vk vk ALY

@ 4xy+ 8xz (xy) @3ab + 3ac + 12ad (3a)
® 5a’b —7ab® (a*b?) @ 3x+6x% 4+ 9x (3x?)

® 3a® +6b* (3ab)

~&B

@ 4x(y + 22)

@ 3a(b+ c+4d)
® ab(5a - Tb)

@ 3x(1 + 2x + 3x2)
® 3(a® + 2b?)
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a(3x —2y) + b(2y — 3x)

@ a(x—2y) - 3b(x-2y) @ x(a+b) +y(a+b)
® a(2x - 3y) — b(3y - 2x) @a(x —-y)+b(y-x)

® 2x(a—2b) — 3y(2b - a)

~&B

HA D (a-b)(3x—2y)
@D (a-3b)(x—2y)

@ (x+y)(a+b)

a+ b)(2x — 3y)
a=-b)(x-y)

2x + 3y)(a — 2b)

~—~ Y~ —~

®
O]
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@ ¥+ 12x + 36

@2x2 +4xy+ 4y2
® 2+ duy + 4y

@20 +dxy + 47 = 27+ doy + 47 + 7

= (x_|_2y)2 _|_x2
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A4x2 +ax+1,9x2 +24x+ b

> E.

> He a+b=20

~&B ,

42 +ax+1= (2x+ 1)
a=2x2x1,a=4

9x2 4+ 24x+ b = (3x + 4)°
b=42, b=16
sLa+b=4416=20




O x2-3x-4=(x-1)(x+4)

@) -4x+3= (x-1)(x-3)

® x? - 8xy —20y? = (x - 2)(x + 10y)
@) + 130y + 222 = (x + 2)(x + 11)

® x* +5xy = 6y* = (x +y)(x — 6y)

@ (x+1)(x—4)
® (x+ 2y)(x—10y)
® (x—y)(x+ 6y)
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® x+7y @ 2x+7 ®2x+7y
@ 2x+ 3y @ 2x+y

2 Ty 1272 = (5 )+ 3)
nX Ay x4 3y =2x+Ty
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Sojrhe ke 59| #e Fotofet

> E.

> =g 12

B

(4+31) (2t —2) = 8t — 8+ 612 — 6t
=612 +2t-8
=62 (-2)r-8

w64+ (-2)+8=12




11. (2a—b) (-3¢ —3d) = —6ac+| ____ |+3bc+3bd oIA [ ]<tol
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117
Tlo
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| 2
> ®E. —6ad

(2a — b) (=3¢ — 3d) = —6ac — 6ad + 3bc + 3bd
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13. o= A 1527 4 11x - 12 & A5-2slfstH?

@ (5x-3)(3x+4) @ (5x-3)(3x—4)
® 3(5x—4)(x+1) @ (5x-12)(3x+1)

® (5bx+12)(3x-1)

B

15x% + 11x — 12 = (5x — 3)(3x + 4)

-3—> -9
3><I 4—> 20(+
11
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@ 2 @ 2x= ® 4

@ ® s

P+ 9x+8=(x+1)(x+8)
(x+8)-(x+1)=7
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15. 4a4? - 6ab & AFEF S AL22

® 4a(a-b) @ 2ab(a - 3) ® a(a-b)
@2a(2a - 3b) ® 4a*(1 - 6b)

4a? - 6ab = 2a(2a — 3b)




16. o352 A4E0l 34 o]-8oto] 132 -9 9] Fh&
a-b+c 9 F& FotH?

Fohe 3ol

13°-9=(13+a)(13-b) =

@® 154 @ 157 @160 @ 163

® 166

132—32:(13+3)(13—3):16X10:160
La=3, b=3, c=160
sa—-b+c=160




17. 577 -63% - 1882 + 2122 & AAtotoizt,
B

[ 2
[> &g 8880

~&B

Z4)

= (57 — 63) (57 + 63) + (212 — 188) (212 + 188)
= —6 x 120 + 24 x 400
= —720 + 9600 = 8880
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x+y= V3, x—y= V2 4 o], x -y + 4x — 4y 2] gk-Z FoHH?

@V6+4vi @ V6-442 ® 26+ V2
@ 3v6-2v2 ® 4vV6-5V2

B

=y Hdx—dy = (x+y)(x-y) +4(x-y)
x—=y)(x+y+4)
2(V3+4)

= V6+4v2
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@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
@ —x2+1=(x+1)(-x-1)

@ x2-Tx+12= (x-2)(x—6)

@10x2 +23x—21 = (x+3)(10x-17)

@ 4a? - 2ab = 2a(2a - b)
®-x*+1=—-(x+1)(x-1)
@ x?-Tx+12=(x-3)(x-4)
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6x2+x—1,9x2-1,3x> +kx—2

C} "
| — ]
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> Het: k=5
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6x>+x-1=(2x+1)(3x-1)

9% —1=3x+1)(3x-1)

FE QA4 3x-1 o[k,
3x2+kx—2=(3x-1)(x+2) = 3x% + 5x - 2
k=5
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D1 @ 2 ® 3

@ 4

@

T2 A5 x+ A 2 5,
(x+1)(x+A) =x*>+A+1)x+A
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o fhs et L. —I‘3x+2—’ T‘*3x+5—"

(7h ¢l "ol = (3x+2)2 - 32

= (3x+2+3)(3x+2-3)

= (3x+5)(3x—-1)
(h) 2] Hol= (3x + 5)x Al2] o]
SRS ol =3x-1
=29 Zol=
2X(Bx+5+3x—-1)=2x(6x+4) =12x+38
TebA g + b = 20 o]tk
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x—=2y)(x—2y—4z) - 1222 o] A7 1 Q1 F dApA o) Fo=m
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® 2x-4y+4z (@)2x—4y—4z ® 2x-4y+ 3z

@ 2x 44y +4z ® 4x-2y-4z

~&B

x—2y=A 2} o}H
A(A -4z) - 1272 = A% - 4Az - 1272

= (A-62)(A + 22)

= (x=2y-62)(x - 2y + 22)
L (x=2y—6z)+ (x—2y+2z7) =2x—4y -4z




@ (x-y+1)(x-y-1) @ (xty+Dx+y-1)
@ (x—y+D(x+y-1) @ (x—y-1)(x+y-1)

® (x+y+1)(x-y-1)

X2 -2xy-1+y> =(x®-2xy+y?*) -1
= (x-y)?-1?
=@x-y+x-y-1)
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D342V2
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a’*+4a+4=(a+2)?
=(V2-1+2)
=(V2+1)?
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